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Ratio and Proportion

A. Ratio: in medications, ratio is the weight (strength) of the drug in a tablet or
capsule.

50 mg =1 tablet
OR
The weight of the drug in a certain volume
1 mL=50mg
B. Proportion: we use a proportion equation to show that 2 ratios are equal
1 tab: 50 mg =2 tab =100 mg
1mL=50mg=2ml: 100 mg

To solve, multiply the 2 outer and then the 2 inner numbers
(extremes) (means)

Ry
1 tab: 50 mg = 2 tab: 100 mg

L N
1x100=50x2
100 = 100

Always write the “Known” on the left, and the “Want to know-Unknown” on the right.

The units must be the same order/place on both sides of the equation.

For example: g:mg=g:mg
NOT
mg:g =g:mg

Now, substitute numeric values for the “Known” ratio on the left, and “Want-to-know-
Unknown” ratio on the right. Use (x) for the “want to know” quantity.



For example, the Doctor’s order reads: Give “drug a” 10 mg to the patient.

You have a bottle of “drug a” in which the label reads: 8 mg/1 ml. (This is KNOWN).

— e

ou need to find out the UNKNOWN, or how much of what is in the bottle will be equal

to what th_e doctor ordered.

Set up a ratio and proportion equation:

(Unknown Side)

(Known Side)

Known Side What you want to know — Unknown Side
8 mg : | 1ml ’ = mg : ml

8 mg 1ml = 10mg X ml

8x =10
Divide both sides of the equation by the same number — the number in front of the X

8x =_10
8 8
X=1.25

Label your answer with the what you wanted to know, in this case “ml”

1.25ml
You will give 1.25 mi of “Drug a” to give the patient 10 mg.

You can check your answer by substituting it for x and solving the equation.
8mg:1mL=10mg: 1.25 mL

8x1.25=1x10
10= 10



The Metric System

The metric system of weights and measures is the system of choice when calculating
drug dosages.

The basic metric units of measurement are the:

1) gram (weight) 2) liter (volume) 3) meter (length)

You will use weight and volume measurements frequently when calculating drug
dosages.

These units of measurement are usually abbreviated.
g=gram L = liter m = meter

Note: “L” is capitalized. You might see a capital “G” or “gm” for gram- the preferred use

o’ . n

is a lower case “g”.

Prefixes combined with the basic unit names indicate larger or smaller quantities of the
base units.

You will need to memorize these!
Only one prefix is larger than the basic unit:

kilo - i il 1000

1kg=1000g Only use “g” for drug calculations
(not km or kL)

Three prefixes denote units smaller than the basic unit:

centi- “ec” 0.01 (one-hundredth)
milli- “m” 0.001 (one-thousandth)
micro- “mc” oru 0.000001 (one-millionth)

In drug administration, you will most often use:
milligram (mg)
weights

microgram (mcg)

milliliter (mL) = volume



One cubic centimeter (cc) = one mL. The abbreviation “cc” is NO LONGER used anymore.
Use only the abbreviation “ml” or “mL”

There are rules to follow when writing quantities in the metric system:

1) write numbers in Arabic (1,2,3, etc.) 5g
2) write the numbers before the abbreviation 5 g (NOT g5)
3) express fractions as decimals 1.5g(NOT1%g)

4) place a zero in front of a decimal point when it is not preceded by a whole number
0.5 g (NOT .5g)

5) omit unnecessary zeros 0.5 g (NOT .50 g)
5g (NOT 5.0 g)

Now you try it. Write these, using correct notation rules and abbreviations:

Four kilograms /-/~ kﬂ

Fifty milliliters 5—L m l

M k ’
Two-thirds microgram C. (‘ 7 /’VW/;]
One and one-fourth liters K }' [7, L
Three hundred milliliters 2 cC m ,
Five and eight-tenths grams 2 ! g 4

- -
Eight hundred milligrams %)C’C" n/LJ&}

Answers:
4kg 50ml 0.67mcg 1.25L 300ml 5.8g 800 mg



Converting Between Metric Units of Measurement

When calculating drug dosages prescribed in the metric system, it may be necessary to
convert between measurements within a unit, i.e. g to mg, mg to mcg.

We will use ratio and proportion to do this:

You will have to memorize only 4 units of weight and 2 units of volume in order to do
this:

Weight
1kg=1000g
1g=1000 mg

1 mg=1000 mcg
Volume

1L=1000 mL

Example: Suppose you want to convert 425 mg into grams.

Known: 1 g=1000 mg (You memorized this)

Known Side What you want to know — Unknown Side
1g : | 1000 mg = g : mg
1g : | 1000 mg = g |: 425 mg

To solve: Multiply the means and extremes.
1000 x =425
Then divide each side by the number in front of the X

1000x = 425
1000 = 1000

x =0.425
Label the answer with what you wanted to know, in this case “g”

0.425¢

So, 425 mgis equal to 0.425 g




Try this: Convert 2.3 g to milligrams

23g= mg

What do you know? 1 g = 1000 mg
Write this on the left side of the ratio.
(1 g : 1000)
What do you want to know?
(How many milligrams (x) in 2.3 g)
Write this on the right side of the ratio.
1g:1000mg=23g:xmg
Did you remember the correct order for g + mg?
(Must be in the same order as on the left side!)
Now solve the problem.
1:1000 =2.3:x
1x=2300 mg
2.3 g=2300mg
There is a shortcut to convert between metric units of measurement. Each numeric
value for kilogram, gram, milligram, and microgram, and for liter and milliliter differ by
1000 between each increment. You will only calculate drug dosages by one increment at
a time.

a) to convert a larger unit to the next smaller unit, move the decimal point 3 places

to the right.
8kg=___ 8
8.000 = 8000
2>->->
8 kg =8000¢g



Try this: 0.25g=_  mg

Answer: 250- same as multiplying by 1000)

b) to convert a smaller unit to the next larger unit, move the decimal point 3 places

to the left.
600 mg = g
600.=0.6 g
=X 28
Try this:
5500 mcg = mg
Answer: 5.5 mg
Hint:
5500 mcg = mg, Label which is “b”igger and which is “s”maller.(mcg is a
smaller unit than mg).
5500 m4.§g = mg So, in this case, you want to find the “b”igger
: ; Now, think about how the alphabet is laid out,
Leftrsudd  (pgnfeiit

AthruZ, (abcdefghijk Im nopqr3tuvwxyz). Which side is the “b” on? It is on the left

side of the alphabet. So in this case you want to move the decimal 3 places to the left,
towards the “b”, the left side of the alphabet.

5500 mcg = 3500, mg
é_—
5500 mcg is equal to 5.5 mg

Now let’s try

S

1.25 mg = mcg

1.25mg = lfﬁing mcg
“"_n

We want to find the “S”maller. So we move 3 places to the right, because the “s” Is on
the right side of the alphabet.

1.25mg= 1250 mcg




Household Measurements

Not routinely used for calculating drug dosages. You will use to calculate a patients
Intake and Output (I & O) of fluids and possibly when calculating liquid medications,

especially in Pediatrics.
Equivalents: Must memorize!
1tbs=5ml

1 ounce — 30 ml

2.21lbs=1kgor 1000 g

Conversions 1
O‘ b L
|5

1.500 ml =

N

.0.015g=
2.8mg=_ (009 ¢
s.10mg=_ U0
s.60mg=_(): 00 ¢
Stime= th3 3

.0.2mg=0' 0002 g

A2g= ILEC mg
9. 0.0025 kg = éub/ g

10.0.065 g = é h mg

mg

[e)]

~

o]

11.0.005L = ( mL
12.15L= J q—[b ml

13.450mi= O, 45 L
- —
14.250m= U.ZS |

1epb

15. 2 kg =

16.

L7

18.

19,

20.

2.

22

23,

24,

25,

26.

27.

79.200mL=_ /9 21
11= 1000 my
1g=_| 000 mg
im=0. 001
023meg ) 00023 g
1.05g =0 (—\'Ola»gkg
0.01meg = 0000 | e
0.4 mg = o0 meg

5g= (1 0RAY kg

101 = /C'/ P00  mL

smi= U005 |

30mg = 3 (//) 000 meg



Conversions 2

i lg= !()00 mg 10. 25mg= 0:(&&5’/ g

—

2. 2g=_AbO0  mg 11. smg=(). (05

3, 15g= 1500 mg 12, 3000mg=_O-U g

4. 05g=_bP0D mg 13 1s00mg=_h5 g

5. 0.25¢g= a\ 5——1:; mg 14. 15,000 mg = l 5/

6. 0.05g= 50 mg 15. 10mg= al g
7. 01g=_I00  mg 16. womg=_ Ol ¢
8. 1lg= HL/"Z' mg 1. O.5mg=0'0005/ g
9. 03g-= 400 mg 18.  7.5mg= 0.0075 g

19.  20.15mg= 0. 0A C’f‘gfg



Conversions 3 Show all work and label all answers.

Remember: 1 mg=1000 mcg 1kg=1000g
1g=1000mg 11L=1000ml

Use ratio and proportion:

—
1. 25mg= U'C/\b g

i 0.064¢g= é VIL mg

3. 4mg-= &/'CLHV g

4. 46g= /’{' é D (" mg

A ~
5. 375mi= . 875 L

89 kg = gﬁ’m g

45 mg = ‘tsfgf‘z' mcg

0.6g= L"LZ mg
sokg=__ || © I
2500g=_ DO Ib

10



Practice Problems: SHOW all work and LABEL all answers.

Use ratio and proportion.

-
s 500 mg = C’b g

2. 25mg= (j ) Cﬁ%b—) g

3 5mg= 5650 mcg

4. 02g-= ;‘C/t mg

5. 4g= %[C/C mg

I



6. A patient drank 8 ounces of milk. How many mL is this?

lounet @ domil = 2 ez m

% /
[y = 4D
/. by —’_”’?//;(:7’{%? @@

7. A patient weighs 70 kg. How many pounds is this?

I J(g : d,}pmw{s = WALR < X pds

by |

8. The patient drank 4 ounces of juice, 6 ounces of milk, and 8 ounces of water. How
many ml of fluid did the patient drink?

oz Twice = YN 30 = /20m /
oz M= Lx 20 [P0 rn/
G>0F /’{7(7 = @A 3By = A/

o : e Al N
9. The physician orders “force fluids to 2000 mLs.” How many liters is this?

/ Jiter: /1CCOmI = .
/ POV = F7
/o b — -
A = 7/,‘//%1/f

10. Ordered: 6 0@ hand you have Z@Bblets. How many tablets will you give?
. two-step problem?

;wm?  [Fabltt = _\é,z:_,_mg X sl
é.

Vi

F =¥

11. Ordered: O.7n hand you have 2b|ets. How many tablets will you give?
(Is this a one-step or roblem?)

&, 75,0 = Rty
Vo 750 = AL

Pre €D
p o : e =

12. Ordered: l@f diazepam (Valium). On hand you have 0.0Z g iry each scored

tablet. How many tablets will you give? (ls this a one-ste two-step problem?)
o, 0’%3 e Co g ! X frrect

: /omyg . O 0) = 002X 12

M ‘ e ’:’) ,/(7 :, . —_ v

T ket O Ceks T CLLEEED




One-Step Metric Problems: Show all work. Use ratio and proportion, and label all work.

1. Ordered: diazepam (Valium}) 5 mg. You have 10 mg tablets. How many tablets will you
give?

{

2 !

\!f - = >—; ~5-7 SO 010000 3 4
CFREREE valiume ‘. o /{/)OM /Q
| ggéé (diazepam) @ i §§E=i!K
s 2 10 myg & Sifs=== v
S 82: ] = X _7[ /
4‘§ Egmmubm"mmm d %_E_f (o] a3
o B fgzcim] /0 /% b= f
| e ® s & ,/)g
! @swus w i3z ’
e g 2 i st /(/‘)
Py
Y (3]
i (V/r ustet
2. Ordered: 0.1 g of secobarbital. On hand are 0.05 g capsules. How many capsules will

ou give? -
05y Capsule = g ‘e,
f_ﬁﬁ; 005 Y
005~ .05
A =X

3. Ordered: 500 mg of achromycin. On hand are 250 mg capsules, How many capsules
will you give? “IKn e

357//% /&ﬂff[(/’ﬁé_ =
£7) = 26T

R TX
4. Ordered: 0.25 g of erythromycin. On hand you have 1 g per 10 ml, How many ml will
you give? K it
i o f Y , _
/ﬁwb/z*m/, C.A% gm Ay
% = 127%

o o 5

5. Ordered: 15 mg of codeine. On hand you have 30 mg tablets. Will you give more or
less of what you have on hand? How many tablets will you give?

\3@”% [ dablet = /1S ﬂ\f N }/ £ 13

/5" 2&(




Two-Step Metric Problems: Show all work. Use ratio and proportion, label all work.

1. Ordered: 2 g of staphcillin. The vial reads: “Add 8.6 ml of diluent to contents of vial.
Each ml will contain 500 mg of staphcillin.” How many ml will you administer?

.57::{)/7\\? e i = AT g X il

ﬁwgv% é@g@f@?
S R

X = &£

2. Ordered: 500 mg of gantrisin. Available are gantrisin 0.25 g tablets. How many tablets
will you give?

a. Xég [faut- = - °F
m”?*@v

0.5~ £.25X
ﬁS/( r>s

=X
3. You are to give 0.125 g of keflin. On hand you have keflin 50 mg/5ml. How many ml
will you give? The keflin will be administered in an IV solution.

5‘7‘//1/\_? St = [ DE vy /__54__/13\_/
0. /2535 = e de mg

/5—, 5_79
/2. s//

4. Ordered: robinul 0.002 g. Available are 1 mg tablets. How many tablets will you give?

[rma gk = R g X tas
7 rogy i s —
Pa A2

5. Ordered: 0.75 g of erythromycin. On hand you have 250 mg tablets. How many
tablets will you give?

ATl | Ftct

Yod 2




6. Ordered: diazepam (Valium) 10 mg. On hand you have diazepam (Valium) 0.005 g
tablets. How many tablets will you give?

6. 005y * Mekgt = 008 4 =

/0 ﬂ%w

— & 3, -
oot tunsy (DU
O0-0? c 2028 )
S =Y
7. Ordered: 4 mg of codeine. On hand you have 0.002 g tablets of codeine. How many
tablets will you give?
; g 0. 004 4 - N At e

0, 0079 [ Sfabtet = 7,_}70—47? :
Oy )
Lw: 0. 042 \
H.ov. T p.plz D At e A
A=y

8. Ordered: 75 mg of demerol IM. On hand you have a vial of 0.0Sﬁg per ml. How many
ml will you give?

g oo ! Il = \flﬂig, X
| ? '75\)»7 075

. &

0.0 75 = 0.0€ y
[7_0( 77’?7)(

/.S =X

9. Ordered: chlorpromazine 0.075 g. On hand you have chlorpromazine 25 mg/ml. How
many ml will you give?

TS 5 e X et

Ab Lo

15



Medication Orders:
Name of Drug: generic name (Brand Name)
Dosage of Drug
Route of Drug (po, IM, IV, SQ)
Frequency given: every day, every 4 hours, etc....

LABEL all answers and SHOW all work.

1. Order: Give digoxin (Lanoxin) 0.125 mg. You have: digoxin (Lanoxin) 0.25 mg per
tablet. How many tablets will you give?

ma«d Jfep = £ 28y - X fas-

0 425 =~ 0.25¥
07 o255

0. = X

2. Order: Give furosemide (Lasix) 80 mg. You have: furosemide (Lasix) 40 mg tablets
How many tablets will you give?

o
g-ﬁgggf ingenus's [
E?s?pga-i‘ NDC 50742105.01 — & ¢ §,§ —
i il B
Sakmsn ¢ $3si=. >
= §§§§'F“HoSEM“E 3% é;i;ﬁs -
g§~§§§ Tablels USP CF CUPTRE e
B SRRz iRe =0 E
P e E
o [ ¢ & g oy .
Rx only 2 ;g“gfngi' J
"8 1P 2340 100 Tasists *g.i tE:B81%¢ 8

L

i

L]‘C‘ //1\? /

Och ——
/%%

& =¥




3. Order: Give erythromycin (EryPed) 160 mg
200 mg/5 ml. How much erythromycin will you give?

Sty seomy pee benn 401 X
SRECTHAL DA MREWE S
wre g ey Sy Th Faba
Ao 2 sorgore b sl iy v

%

— i L B 1o 10 % 09 vemapg Yeew G
= T
v
? :2 Ervped 290 W:uunmmb(
o w\.@;"zrda 35 Crdamat
" EAYTHROMYCI e s el o2
i ﬁw ETHYLSUCTINATE FOR oo et
'Y P
g 7 ORALSUSPENSION, bs? S,
g Lol e sk QTEARE MR BT ADVERSTINE
2 ~F . ) WIS G TN
s=====cy 0 m) perSml bl e D oA ARz >
3 — 2 when raconstituted m‘;':"‘" e e ‘::‘
E EETET e Paymmaais w
'EE 1 caly ;UL A

/o

You have: erythromycin (EryPed)

4 s

S

% A

¥ ) '){ : ‘@

2% 920
x =4

A
=

Lond

4. Order: nystatin 250,000 units. You have: nystatin 100,000 units per mL

How much will you give?

B PR 51 AL A T TN

-
[ LT T T N 1%
i 00 s SO0V 8k S D
- $9% W2 TR XK AT S RN
Baurscha Lombs Palern a2

"
hkangcarr pgaders wAR Ty
hx:lhv« ‘esk 4t 1 etk dean
P N e o1 g S e
B Na i ook pofm wAa G v
W SO R b s
b it D IRHASING ) I

RENA LN SRR

oy howere 190 LV

B L )

SHAKE WILL DEFORE USING  Yersa i ivb. Mt verr et omiaincs

3

MINE NystatinQral  SERERmEiee
I Suspension, USP i wam s sisn e
5 i I 3 \ 10608 grats paran

TOeitE-sed 9

Ba only SRR
Sarah& i wr 0 e. —
II ll [l" l l ik ;M::.f‘?:‘:‘ = e {

/ eC, oY ot [l = 25972 jnp e ¥ g

w = [0, 070K
ol Sthe’ Rahlhui ~

)oY o [727/ g0
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5. Order: Give sucralfate (Carafate) 500 mg. You have: sucralfate (Carafate) 1 gper
tablet. How many tablets will you give?

_,_.._.,“ /? St - ’—J\? Sy
L 72”7“? "”7(’

ALAMYEAL
S5 TR

Sucralfete
N Tabfels, USp
1 qrabm

L. =X

6. Order: methylprednisolone (Medrol) 8 mg. You have: methylprednisolone
(Medrol) 2 mg per tablet. How many tablets will you give?

f:;‘:mﬁtf;m WD 0005 0049-02 g /7% ; /——é(_//— L (; Leg(t_x___,béz/‘

(B8 10 TTF) [es USR] Rx on} 2% N B4
Fratucs hrore tight b — X gt
& p= = = =
Dapeoess iy ¥ght conffarrars Medl' nl . / %
sk, methylprednisclune ! —
Sesp gatentunder diase tablets. USP : — e
beereabon o 4 2K = o -
«
DOBAGE AN USE: E ! a\ 69‘
Sex auzatzpayiog ﬁ |
Pimicrdarsg ot | 2 |
Each Labs comains 2 mg —III—_— w- ﬁ—“&” .
meluyipEnnLiee. 15 Phisemonic & Uppdm Lo =P 0 = i
Dion o Mams s, N Y 55807 il —

7. Order: Give promethazine (Chlorpromazine) 25 mg
You have: promethazine (Chlorpromazine) 10 mg/5 mL. How much will you give?

[0y btz '9’5/74?; X

] i g
2o 10K
o, /0
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8. Order: Give atropine 0.3 mg You have: atropine 0.4 mg/mL

DIST, BY: PHYSICIANS TOTAL CARE
T, X Ml
NDC 548668-0740-2 as nL

ATROPINE SUL 0.4HG/ML VIAL
LOT ¥ 6660 EXP. DATE 01/66

AT i
a7400250000
0. Ay o fnt = 0.5 v A wd

03> 049y
O Y O-d

A5 =X

9. Order: Give midazolam (Versed) 3 mg po. You have: Versed 5 mg/mL. How much will
you give?

2 . . . m- Eard ga,
Migazolam Hydrociiccide Injsctice. USP @ , v U Moo e
§ pigivd l b s e .

Rddarchen § mgerl [su S bycCrochioride| ! = snindls 3 16 1% el Ak

i K 4
e Sedyusemn s nie s Ielrpommrymy Saw Kieiy rm»ry& WTMJ .

|
i
|
|

Conmmans Bergpl Aoadl

10 Saeriby Vst {1 2L sach)

WD £ PETE-E3401
Kidazolam Hydrochioride injection. USP C | et Demeg S shetaus ot o

| .
ﬂg M*nrﬁg*.,!rr"t
5 i "‘a‘& ot Vg TRy
1

Baantiir § Fyrl (s Tt Prpdrochionadt;
T OB hinldt OF P wiatud D3k Oy

38 Sterth Ve {1 al. aach)
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10. Order: Give Cefadyl 750 mg. You have: Cefadyl 500 mg/ 2 mL
How much will you give?

’ffﬁmﬁ Ionite 780 25 [ e
" sTE - ST
= oA

2/

11. Order: Give penicillin G 1,200,000 units.
You have: penicillin G 6,000,000 units/10 mL. How much will you give?

L s R Y A L % s T R
@ﬂfﬂézvn@: SO A = [ 20 e xiho #

12,072 — g peoy
é / 2 e )
9) - - 3 .
12. Order: Give digoxin (Lanoxin) 0.125 mg.

You have: digoxin (Lanoxin) 250 mcg/ml.
How much will you give?

Xé’??mfﬁ;/nv@ = ,/7‘/5———% - >< #ml

s /%L,{i&_ﬁ

- (_/}
2% = 2ses
%E S50 0T h—€_
&ﬂ S = >( =
13. Order: Give levothyroxine (Synthroid) 0.225 mg

You have: levothyroxine (Synthroid) 75 mcg/tab.
How many tablets will you give?

faife 208 neg ! Far

B, 225 Cﬁif'ﬂ
e TS

- =23
/'7?" =

= =

i Wwﬁ -/




14. The physician orders heparin 10,000 U SQ q 12 hours for your patient with a below-
the-knee amputation. You have heparin 5000 U per ml available. How many milliliters
will you administer?

5Epp it vt = BT ol gy

SODIUM //mu - 625V
INJECTION,USP 70 <z

5.000 L

USP Units/mL
(Derived from Porcine Intestinal Mucosa)

For IV or SC Use Rxorly .
1 mL Muttiple Dose Vial A2 K

HEPARIN

15. Your patient with a gastric pull-up receives penicillin G 200,000 U IM Q 6 hours. You
have penicillin G 250,000 per ml available. How many milliliters will you
administer?

4 7 - 000 4 -
,7'647/ m 4PN h /’M' &= ;%_’_pi——————\k >/ _Ley
e KT TVUD x
4 :
—£7,/70 TRy 520
0. =¥
16. Your patient with a lumbar puncture receives heparin 7500 U g 12 hours. Heparin
5000 U per mlis available. How many milliliters will you administer?
HEPARIN sprowmds /ol = L8000 Y ny

SODIUM
INJECTION,USP

5,000

USP Units/mL
{Derived from Porcine intestinal Mucosa)
For IV or SC Use Rxonly

1 mL Mutiple Dose Vial




17. Mr. Cook requires medication for nausea. prochlorperazine (Compazine) 10 mg PO
every 4 hours prn, is ordered. You have 5mg tablets available. How many tablets will
you administer?

5 /)5: [Job = /0 L5 w%\ﬁfr

A

18. Mr. Pace receives hydroxyzine (Atarax) 100 mg PO hs prn to relieve anxiety. You
have 50 mg tablets available. How many tablets will you administer?

STy o (feb = L2 g L A

19. Mr. Day receives digoxin (Lanoxin) 0.25 mg PO daily for atrial fibrillation. How many
tablets will the nurse administer?

6

LANOXIN® (digouin)

ag i‘g?i 100 Tabdets NODC 0173-0242-55
‘! g:f%‘ Tablets, USP
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20. Mr. Payne receives Keflex 500 mg PO qid before his dental extraction. How many
capsules will the nurse give?

B
i

-
‘M| keRLEx;
G Copmian £ 2
B wmeee H
: % %; Victax! ygharmd g é%ﬁ
=H HE
¥ =S i §§§ Pog

:

BT o
07.67% < Sl = mﬂ% ) X )
- = X S =

=
21. Mr. Tune is admitted with pancreatitis and receives diazepam (Valium) 5 mg PO g6 h
prn for anxiety. You have 10mg tablets available. How many tablets will you administer?

|

-
3

“ é.gﬁf § R 01000006 01 v = “‘
W G e
CErEE {diazeparm) PSS T
.a'«&..-; 10m Eifemm O
= §§i Emhmg«mms §. iggugl

3% 15 vy darepam & iii-o
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S
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b.5 =
22. Mr. Jones, admitted with irritable bowel syndrome, takes dicyclomine (Bentyl)

20 mg PO tid ac. The drug is available in 10mg capsules. How many capsules will
the nurse administer?
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23. Mrs. Tyth has pruritic dermatoses. The physician prescribes hydroxyzine (Atarax)
30 mg PO bid as part of her therapy. The drug supplied in syrup containing 10 mg
per 5 mL. How many milliliters will the nurse administer?
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24. Mrs. Gale, admitted for alcohol abuse, has an order for asorbic acid 0.75 g PO daily
while hospitalized. You have 250-mg tablets available. How many tablets will you
administer?
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ANSWERS:

Conversion 1

1.

W N eEWwN

[EEGE
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0.5

15
0.008
0.01
0.06
0.3
0.0002
1200
25

. 65
i

12.
13.
14,
15:
16.
17.
18.
1 £ 8
20.
21
22.
23.
24,
25.
26.
27.

1500
0.45
0.25
2000
79.2
1000
1000
0.001
0.00023
0.00105
0.00001
400
0.025
10,000
0.005
30,000

Conversion 2
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1000
2000
1500
500
250
50
100
1100
300

.0.025
.0.005
3.0
2.

v 15
.0.01
.0.1

. 0.0005
.0.0075
.0.02015

Conversion 3
1.
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0.025
64
0.004
4600
0.375
89,000
45,000
600
110

10. 5:5

Practice
Problems

1.

ol (e BB U
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0.5
0.025
5,000
200
4,000
240 ml
154 lbs
540 ml
2 liters

. 3 tablets
. 3 tablets
.050r¥%

tablet

One-Step
Metric
Problems

L

o M

0.5
tablets
2capsules
2capsules
2.5ml
0.50r%
tablet

Two-Step Metric
Problems

1.

88 00 SO UL i (10

4 ml

2 tablets
12.5 ml
2 tablets
3 tablets
2 tablets
2 tablets
1.5 ml
3ml

Medication

Orders

1.
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NN
B W

050rk
tablet

2 tablets
4 ml

2.5 ml
1/2 tablet
4 tablets
12.5 ml
0.75 ml
0.6 ml

.3 ml

.2 ml
.0.5ml

. 3 tablets
.2 ml

. 0.8 ml

. 1.5 ml

. 2 tablets
. 2 tablets
. 2 tablets
. 2 tablets
. Y2 tablet
)

capsules

.15 ml
. 3 tablets
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